Sunday, November 06, 2016 16:32:59

Pattern:
PLT10075.Ptn

CASA Part Number (typical):

PLT-120x75-TS30-MS20 (plain 2mm steel as drawn)

= 120.00

— 75.00

5 holes 6.1mm dia + deburr

= PLT-120x75-TS30-AL50 (plain 5mm dlloy as drawn)
PLT-120x75+M6-TS30-MS20 (with 1 x M6 PEM nut)
— PLT-120x75+M8-TS30-MS520 (with 1 x M8 PEM nut)

(to suit M6 Pan or CH etc. screws) 2.00
( A I
30.00
[
QO 0O
Mild-Steel
No.1.6~2.0mm
ALLOY
. 7500 CR-Steel
M8 Pem nut OPTIOH EST. AREA
265 -
Q EST. WEIGHT
v 2.80 kg/m
= EST. PERIPHERY
EXT: 354 nmn
. . TOT: 354 [l
M6 Pem nut option 1 hole for optional PEM 5-M6 or M8 nut SO v
(open out to 8.75 or 10.5mm to suit PEM) 0.00mn 30, I
0000nn 0. 5o
S 800mm 10 5
_ o 30.00 30 x 30 mm Aluminmum Bsla7a 1997
’ T-Slot section OTHERWISE
X SPECIFIED
30 x 30 mm Aluminmum 08 No
T-Slot section 3000
120 x 75 T-Plate for frame jointing |:I H 5 H CUSTOMER CASA Modular Systems SIZE | DRAWING Reference No | ISSUE
CASA Part Number: Modular Systems SESCRIFTION A4 |PLT-120x75-TSlot| A
PLT-120x75-TS30-MS20 B6 Fitzherbert St, Petone, NEW ZEALAND Gusset-Plate for 30mm T-Slot Comers “1eOXo-19500
TELEPHONE (B4-4> 9393 777 ORAWN DATE APPROVED : | DWG. SCALE COPYRIGHT - CASA Modulor Systems
FACSIMILE (64-4) on request only AWD 061116 ? : ALL RIGHTS RESERVED




